Math 32 Stokes’ and Divergence Thms November 29, 2018

1.

Verify that Stokes’ Thm is satisfied if F= <y,xz,x2> and S is the triangle cut by
X +Y +z =1 in the first octant.

Use Stokes’ Thm to evaluate ”(wﬁ)-ﬁds if F= <y,—x,x3yzz> and S is the
surface described by x*+y? +Sz2 =land z<0

Use Stokes’ Thm to evaluate <.[>E~dF if F = (z,x,2xz+2yz) and S is the surface
described by z =1-x* —y? there z>0

Use the Divergence Thm to evaluate .[.[E-ﬁds if
S

x 5)2 ,Z° +In(2x + «/1+ 3y? )> and S is the surface

determined by the portion of x*+y?* =4 bounded above by y +z =2, and
bounded below by z=0

F= <x2 +cosh(yz®),y —tan™

Verify the Divergence Thm with F = <x,y,z> and S is the surface described by

X*+y?+2z?=a’



